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CC Algebra

Cumulative Review #4.5
Show work for all questions for full credit 

& write your answers on the lines provided!!!

(If you feel no work is needed you must explain your reasoning.)

1.  In the equation y = 35(5x), what does the 35 represent?  (Remember to explain your answer) 

A.  y-intercept 

B.  starting value

C.  growth factor

D.  growth rate 










1.  _______________

2.  What is the y intercept of the following relationship?

	x
	1
	2
	3
	4
	5

	y
	200
	800
	3200
	12800
	51200


a. 50

b. 0

c. 4

d. 200










2. ________________

3.  Fred’s test grades so far were 89, 78, 85, 71, 88, and 90.  What score must Fred obtain on his 
      7th test to have exactly an 83 average?











3. ________________

4. Which has a greater rate of change:  the table or the situation? Justify your answer.
	x
	y

	0
	5

	2
	9

	4
	13

	6
	17

	8
	21



______________________________________________________________________________

______________________________________________________________________________

______________________________________________________________________________

5.      The Excel Cable Company has a monthly fee of $32.00 and an additional charge of $8.00
         for each premium channel. The  Best Cable Company has  a  monthly  fee  of $26.00  and  an  

        additional  charge  of $10.00 for each premium  channel. The Horton family is deciding which 

        of these two cable companies to subscribe to.
 a.  Write an equation that represents the cost of each cable company’s monthly fee.  (Let c = cost)

 b.  For what number of premium channels will the total monthly sub​scription fee for the 

   Excel and Best Cable companies be the same?
5. _______________
A taxi company charges $1.25 initial fee and $0.55 for every mile you drive.








